
١٤٢אא
אאאאאאא 

 
 

-١٣- 

١J٢   א א ٥٠  ٣٢ K 
 ٦٠٠ א   ٢ K  א א   ١٥٠٠א Kא W١J

،א٢אJאאאא،אא٣Jא
אאאK

אdאאא،אא 
LavאW 

Lav=πd=π*١٫٥٧=٢-١٠*٥٠ m 
A= ٤-١٠*٣ m٢                  µr=١٥٠٠           µo=٤π*٧-١٠        N=٦٠٠      I=٢ A 

١- wbAt
Aor

avLR
mag

/610*78.2
)410*3)(710*4(1500

57.1 =−−==
πµµ

   

٢- mmf=NI =١٢٠٠=٢*٦٠٠ At 

mAt
avL

mmfH /33.763
0157.0

1200 ===  

٣- wb
R
mmf

mag

410*32.4610*78.2

1200 −===Φ  

tesla
A

B 44.1410*3

410*32.4 =−

−
=Φ=  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


